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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Select the appropriate answers of the
questions from_ the following : 1x8=8
fsfiRe eiRe A Te v =12
(@) Accounting gives information on

ot © i |

(i) financial states of the
organisations

FesITEIRS e SER
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(b)

(ii) income and cost for the managers

(i) company’s tax liability for a
particular year

a5 e Tme @A @B FF
lEEEACE!
(iv) All of the above

QRS AR

Which of the accounting principles state
that companies and owners should be

treated as separate entities ?

PRSI Rpiea T T RI=iiT) o1
TR e e 92 e I [ew =
Tfow ?
(i) Money measurement concept
CTfes sifEtio el
(ii) Business entity concept
RIS oIfee A=l
(iii) Periodicity assumption.
AR Sfoue

(iv) Going concern concept

sife* e efedina g=e
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(c) Accounting principles are generallly

based on

f2pie[ Tiferz feofe oa

(i) objectivity
Tl

(i) subjectivity
Jfere Reval st

(i) convenience in recording
ferfeRmaads JfRu s

(iv) None of the above
GG «BIe T2

(d) Ind AS 9 is related to

SRR BpIoR » W i
(i) revenue recognition

o2 FIFred 0o

(i) accounting for fixed asset
B TR fepist e oS
(iii) leases '
G O
(iv) depreciation accounting

oy 2ol Are
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(e) Amount spent on increasing the seating
capacity in a cinema hall is a

A
(i)' revenue expenditure
o JA
(ii) capital expenditure
Al T
(i) both revenue and capital
expenditure
oA S FER T TAIGIR

(iv) None of the above
ARG oIS TR

() Excess of debit in the Profit and Loss

Account is known as

Aro-cEeE o TfoRe (CRoS Tl I

(i) gross loss

T ERDIE FAO
(i) gross profit
o Eeq o0
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(g

(h)

(iii)

(v)

net loss

PO (SO FoTO
net profit

PO e O

Profit and Loss Account is also known as

e-(E6 A9 &=l [

M)
(i1)
(iﬁ}

(1)

statement of affairs
v RIS Zpicets
income statement
o fRgfe fores
statement of operation
g [Jfe fapists
statement of labours

R qfs foieste

In hire purchase system the buyer

charges depreciation on the

Ul T o0 (FoiR T WERd T

1)

cash price

T PR AT
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2.

'(ii) future market price
ST IEF TR 89S
(iii) hire purchase price
- Yl T NN 8IS
(iv) ,rniddle price
T 61T
Answer in brief any six questions:
Ricar g1 i B T Bt 3

(i) Mention any'two of the users of
* financial accountmg information.

2x6=12

81y fpi=R = ﬁmzmmeu _~
'(ii) What is the basic difference between

Accounting Standard and Generally
Accepted Accounting Principles ?

f2pioR WFITE SIS TS S Zpiod
- Nfex G Aidw & ¢

(iii) What is the significance of Accountlng
Standards ?

f2plsie TPTIRY Olesi 6 2
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. (iv) Explain in brief the meaning of

matching concept in the measurement
of income.

Wﬁﬂa«mﬁa«%&ﬁ%uﬁm
[T '

. () How are expenses recognlsed under

ASQ'P

fEptom. mmwﬁmmﬂmﬁﬁw
T 2

(vi) What is revenue receipt ?
- JioE off® W R e
(vii) What is the s‘i'g'niﬁcance' of inventory
valuation ? '

TGS 91 JEIE Oieo & 2

(viij) What is the basic advantage of

computerised accounting ?

aﬁvm«mﬂﬁwﬁwv{w«sﬁaﬁmﬁs?

(ix) What is the basic difference between
. hire purchase system and mstalment

payment system ?

O T AR© % ﬁs’@—m safet e
Nl & 2
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(x) How do you define accounting software
package ?
RpioEeR AE TROSER (ATHE Figes! &7l |

3. Answer any four questions in short : 5x4=20

Rirazat bIfab @9 e v foral 8
(@) Mention the qualitative characteristics
of accounting information.

2p1el O @SS (IFEPTR B 4 |

(b) Write the meaning of the following
accounting principles :

frefiRe fZorem Tifecs 2l i s
(i) Cost concept
A RIESIISRI
(ii) Consistency
el

() ~ What are the objectives of measurement
of business income ?

TR S SR S o e

(d) Write the differences between capital
expenditure and revenue expenditure.

What is capital receipt ? 3+2=5
5 T 7 YA JIR AL T | R
afifes s & 2
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(e)

(9)

()

Write the advantages and disadvantages
of hire purchase system. 3+2=5

ool T ATe R S SRR B

Write a note on accounting system of a
dependent branch.

ST M1 2517 ITZ @HATS <Ot (It el |
What are the features of Tally 97?

G 59 aRERTE 2
Write the basic differences of manual

accounting and computerised accounting.

FroE 9 Rl oS FETHIEE T
fEpivem &1 sty ot

Answer any two questions : 10x2=20

Rzl w5 eee T ol 2

(a) From the following Trial Balance of

M/s. Gupta Enterprise, prepare Trading

and Profit and Loss account for the

year ended on 31st March, 2023 :
4+6=10

G5 @@l @oReiRE RS fEed ke
AE@ I fpiA % e (@I R=ple 9
e
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Particulars Dr. - Cr.
() (cef5, © (fE)
Capital (&) , o 4,00,000
Drawings (S&)- 50,000
Opening Stock . 75,000
(SITSd TS “I0)
‘Rurchases (ﬂ) 4,20,000
' ISundry Creditors 75,000
| Gigisd ofeamix) . e o :
Sales (R&) . : 8,10,000
Sundry Debtor (e (FMR) | 1,20,000
Freight inward (¥%< @3 ©19))| 20,000 - |
Discounts (JBl) 16,000 28,000
Commissions (&R) - 12,000 14,000
Returns (Rms fZ5i7) 16,000 © 20,000
Salaries ((X%9) 1,20,000 - ‘
Rent, Rates and Taxes 40,000
‘ . W’ W’ m
Postage, Telegrams and
Telephone : 25,000
oI, (BfeTat, CBReiem '
Loan (49) 3,00,000
Interest () 20,000
Brand Name and Design 60,000
AR foes=R AN W 7 N
Furniture (SI53R) 3,50,000
Advertisement (R&loq) 1,00,000 .
Cash in Bank (@& 43t 531) | 1,50,000
Cash in hand (S 25 &) 63,000 :
Duty drawbacks 10,000
[ ot I 5%
Total (33)3 16,57,000 | 16,57,000
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(b)

- from B Ltd. five trucks under hire
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()
(ti)

(iti)

Other information (S ©%0) 3

Closing Stock Rs. 1,70,000.

TS AN | ' :
Depreciate Furniture @ 10% p.a.
S54RT SR IR @ S0% YR

The - e'nterpi’ise “spent heavy
expenditure in .advertisement for
launching new product which is

" _to be written off over 5 yrs.

| IR I T 1 Bl 2ot

(iv)

()

On

e} A R:WoT Ao 77 AR @
4R FE IT ¢ IFT Sogo e

oA 9 27|

Salary Outstanding Rs. 12,000

Salary Paid in Advance Rs. 10,000
wfeiE sReiEe =

1st April, 1998 A Ltd. purchased

purchase system, Rs. 5,00,000 being
paid on delivery and balance in five

instalments of Rs. 7,50,000 each

payable annually on 31st March. The
vendor charges 5 per cent p.a. interest
on yearly balances. The cash price on
five trucks was Rs. 37,50,000.
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(c)

You are required to show Trucks
Account and B. Ltd. Account in the

- Ledger Book of A Ltd. Company.

Afeen afde, 1998 iRk A Ffide B
FRIETR 71 Oie! &1 Awioe 5 3 5 FRE

TR (P22 ol T TAUOICS 5,00,000 T
- ReY IR IR IR 7,50,000 THICF <D

e afovem 31 Mo «Reny s
Rk ST 473 S9ITS R 5% 7 SICst
R sAA Biv TP W 37,50,000 5 |
A Ltd-3 38 5= 1% &% B Ltd-3 o1t
2ES | S |

.Hari Brothers of Kolkata has a branch
at Ranchi and in order to maintain strict
control on stock, invoices goods to the
branch at selling price which is cost plus
331%. From the following particulars,
prepare Branch Stock Account, Branch
Debtors Accounts and Goods Sent to
Branch Account. - 4+4+2=10

FierRIeR 2R qies SRS 9! =] OR | Tg©
SI6ljF @5 LI AT T AR \iee [t
7S (& R GRS 993%% S R F
) TPTE bl Wl |
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AR o e =R T T Rot
S *IIF M TRptel % =T TUARD ST

- oot oS 11 o A
' S . Rs.
Stock on l.st, April, 2022 (Invoice, Price) 15,000

 sifteT e 2033 T AT (Gt w) -

sifen afE 03T RIT

Goods -invoiced to Branch

Debtors on Ist April, 2022 " 11,400

during the year (Invoice Price) 67,000
TRCBIS *Ae Sl Tl T (it Wre)

Sales at Branch (¥ Re&)

Cash (™) . o - 31,000
Credit () - 37,400
Cash received from debtors , 40,000
VRS SIS A &

Bad debt written off 250
SR T SR | S
Discount allowed to customer 300
sz fal B!

Expenses at Branch | 6,700
Stock on 31st March, 2023 13,400

o3 WE 2039 © A TGO AV
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(d) - Assam Motor Service Co. buys a motor . (e ‘Explain  the procedur es fé’l‘ settmg
car on instalment payment system from . Accounting Standards in India.
Hind Motors Ltd. on 01.01.2018 under o O RICRE) ﬁsm- W orn s SRS amn
which payment is to be made on ' ) :
December 31 each year for 4 years
@ Rs. 50,000 per annum, interest being -
calculated @ 5% p.a. The cash down
price of the car ‘is Rs. 1,77,300.
Depreciate "the car @ 10% p.a. on
" diminishing balance meéthod.

Prepare Motor Car .Account, Hind Motors
Ltd. Account and Interest Suspense
Account in the books of Assam Motors
Service Co. for four years.

Assam Motors Service Co.-9 ﬁ?%m
sizf$® Hind Motors Ltd < %191 01.01.2018
wifs GBI W59 oY @Fw | &fS T o=
W 31 RS IR 50,000 T HifF I
SiwiE 73 = % 2R 5% A T i =
= | NG 7o & Sfed 1,77, 300 G|
TGP %S aﬁi 10% I L=
SHY 419 [

Assam Motors Service Co.-¥ 3210 5ifR I
AR Tere Tl ReIHIRIT 2wo 1 8

(i) Motor Car Account
(i) Hind Motors Ltd. Account

(iti) Interest Suspense Account

, | 11000
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